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Home Work # S

Knowing the current across a 3H inductor is given by 10 sin(2t+%), find V (1), p,(t), and

w ().

For the circuit shown, if the voltage
v,(t) =10 cos(2t+%)[\/], find i (t) and

the energy stored in the capacitor.
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3. Find i/(t) and v (t) knowing that the

voltage across the capacitor in the

circuit is v, (t) = 24 sin(2t +%) V1.
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Find the energy stored in the 3F
capacitor knowing that the voltage
source in the circuit below is given by
V,(t) =30 sin(3t) [V].
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Find the energy stored in the 36H
inductor knowing that the voltage
source in the circuit below is given by
V,(t) =30 sin(5t) [V]




